B3 R2018EM LA AL SRR RE LR H

ELERS EEHE RERR | #RELTVE EEEL | F2IHNX FRXAN | €W | S| BS2 | BESR3 | BG4 | ER &Fix
100088210000309 | Z={Ey  |BEEMALFBE 080400 ERIEERA 2H% |£2Es%E EEDutkl |70 64 89 139|362
100088210000307 £t |Bait=Bc 080400 ERIEERA | 2H% | £2ESs%E XTItk |57 64 103 136|360
100088210000313 |24 BaftEBs 080400 WESRIZERA £8% |£E%%® XTI |57 54 110 133  |354
100088210006390 |fL5fw Baift=kt 080400 UEERIZ 5N | 28% | £E%%E LTIt 60 66 96 127 349
100088210000316 |F&EE |Bapft=k 080400 SEERIEERAR | 28% |2Es®E LT 63 56 96 133 348
100088210000314 |5KME: |Baft=Bt 080400 SEERIEERAR 28% | 2Es®E | LETUHR |61 73 84 120 338
100088210006549 XIEK |Baft=kt 080400 SEERIZERA 28 2B®%E LEITK |62 39 86 121 308
100088210008389 XIEZE |Baft=kt 080400 SEERIZERA 28 2B®R%E LEDItK |62 53 76 115 306
100088210000308 {A¥FiE |Baft=kt 080400 SEERIZERA 28 2B®R%E LEItK |60 43 85 111 299
100088210003176 |fRimim | BaftEBe 080400 SERIZEERA 28 2B®R%E LEDtK |57 55 83 81 276
100088210002622 R |Baft=Pt 080400 SEERIEESRAR £8% | 2Es®E LTI |51 49 61 109 270
100088210000310 =Ml |Baft=kt 080400 SEERIEERR £8% | 2Es®E LEITK |56 63 76 66 261
100088210000567 |#BiE7% |Baft=Bt 081100 EHRE5TRE £8% |2Es®E LEIUHR (74 65 122 145 406
100088210005572 |3kt Baft=8e 081100 BERREETRE 28% |[2Es%E KT 65 77 106 130  |378
100088210005446 |3kK{% BsiftERBE 081100 BEHRFETIRE £B% 2E%%E LETHK |64 77 96 140  |377
100088210007751 |\EE=FU | Baft=Be 081100 EHRESTRE £8% |2Es%®E LTIt |61 61 111 135 368
100088210006569 |t Bahft=8k 081100 EHRESTRE £8% |2Es%E LTIt |61 56 120 127 364
100088210000599 kit |Baft=Bt 081100 BEHRRFETIRE £B% |2E%%E XETUHK |52 49 127 132|360
100088210003663 |3k7°7 |Baift=ke 081100 EHRES5TRE £8% |2Es%E LTIt 64 68 105 121 358
100088210008728 |#fiFr= |Baft=Bt 081100 EHRZE5TRE =B% =2BE%%EF LLEitkl |56 66 97 137 356
100088210000586 |FF#E |Bait=kc 081100 BEHRFEIRE £B% |2Es%%E EETUH 62 73 111 109  |355
100088210004865 Z&E:X | Baft=Bt 081100 BEHRESTE <2B% |2Es%®E LTt |58 60 107 130 355
100088210002526 |iffiEfn | Baft=Bt 081100 EHRESTE <28 |2BEs%E LEmitK |67 72 101 111 351
100088210002497 |5R33Z  |Bzi¢E8s 081100 BEHRFETRE £B% |£Es%%®E XETUHK |67 59 115 107  |348
100088210002908 |ER3E= |Bzi¢¥k 081100 EHRFETE £B% |£Es%%® EXETUHK |57 58 105 127|347
100088210008648 [T Balft=ke 081100 BEHRRFETRE £B% |£Es%%E EXEIUHK |58 52 110 127 347
100088210002348 | XIBL Baft=kE 081100 EHRFEIRE 28% 2E%*%® LTtk |54 64 107 120 345
100088210003511 |pRBE |Bait=k: 081100 EHRESTRE <B% |2BEs%E | TEWmitK |56 74 95 118 343




100088210007346 44 | BEEMALFBE 081100 ERREETE 0% |£ESsE LTItk |66 74 83 119 342
100088210005167 |FxF— |BEEMLFBE 081100 ERREETE £8% 2EsE TEDUHK 62 74 96 109 341
100088210000598 FZ#, |BzitEkt 081100 ERREETE 0% |£2ESs%E KELutkl |55 46 112 126|339
100088210003321 {®EXfiE Baift=k 081100 EHRESTRE £8% |2Es®E LTI 59 61 92 127 339
100088210005226 FFHE |BziitEbt 081100 BHRZS5TIRE 28% |2EsE LEDUTK |66 50 91 132|339
100088210008731 |[EfE3E  Bait=ke 081100 EHRESTRE £8% |2EsE LTIk |52 56 100 127 335
100088210000592 |\FE&RE |Baft=kt 081100 EHRESTRE £8% |2Es%E LT 58 60 85 129 332
100088210007490 Bk |Baft=kt 081100 EHRES5TRE £8% |2Es%E LTI 65 52 100 114|331
100088210000593 |Xf1E& |Baft=ke 081100 EHRZ5TRE 23 |2B%%E LTIkl |65 61 84 118 328
100088210000579 |HiEX |BEaMtFke 081100 BEHRFEIRE £B% £E%% L£EDK |68 66 84 107  |325
100088210000590 |3KBEER |Baft¥B 081100 EHRES5TRE £8% |2Es%®E LTItk |58 55 108 102|323
100088210006408 |Fi& Bkt 081100 EHRES5TRE £8% |2Es%E TR |66 58 83 116  |323
100088210002907 |SFfkE | Baft=Pt 081100 EHRZ5TRE 286 <2B®R%E LEItK |56 63 88 115 322
100088210005168 |4-&38 |Bzit3kE 081100 EHRESTRE £8% |2Es%®E LEITK |66 43 102 111 322
100088210006760 =i Bahft=k 081100 EHRES5TRE £8% |2Es%E LEItR |50 61 101 109  |321
100088210005445 ¥F3XE |BEMLEFEE 081100 BEHRRFEIRE £B% 2E%%E £ETH |54 56 95 114|319
100088210006570 |ZFiEiE |Baft=kt 081100 EHRES5TRE £8% |2Es®E TR 69 73 88 87 317
100088210005040 |3kt Bt ERE 081100 EEREZEETRE 284 |[2EsE LTItk 55 47 108 106|316
100088210005562 |#BfEPH | Baft=Bt 081100 EHRZE5TRE =23% =2B%R%EF LLEIitk |61 65 78 112 316
100088210000596 |87 |Bait=ke 081100 EERZETRE 284 |[2EsE LTItk 63 55 88 109  |315
100088210007799 skiAIA | Baft=Bt 081100 EHRESTRE £8% |2Es%E LTIt |67 53 74 121 315
100088210007478 |&i& Bsft=8k 081100 EHRZE5TRE =B% =2BE%%EF LTtk |65 56 100 93 314
100088210000572 |XAT |Bait=ke 081100 EHRESTE <28 |2Es%®E LTt |58 54 93 108 313
100088210004542 |§iMF{T |Bait=Be 081100 BEHRFETIRE £B% |£Es%E XETUH 54 57 86 113 310
100088210006410 |ffZE= |Bait=Bc 081100 EHRFETE £B% |£Es%E EETUHK |54 52 81 120  |307
100088210006759 =¥xrs |Baift=k |081100 EHRES5TE <28 |2E%%E LEmitLK |56 53 88 110 307
100088210008609 #pEiE | Bait=k |081100 EHRZES5TE <28 |2E%%E LEmitK 54 52 81 119 306
100088210006406 “Rig% |Baiftt=ke |081100 EHRIESTRE <B% |2BEs%E BTtk |59 59 94 93 305
100088210005170 |iXikk& |Baift=ke |081100 EHRIESTRE <B% |2Es%E BTtk 64 55 75 110 304
100088210002496 |ZiFt |Bzift=bt 081100 EHRFEIRE 28% 2E%*% LTt 66 69 80 88 303




100088210000570 | #MIzfiE BBt 081100 ERREETE 0% |£2EsE LTItk |54 62 82 102|300
100088210000792 |#H#AMK |Bzt=Bt 085203 BRI TR <HE |2ES*® LEIITK |70 74 85 122 351
100088210008184 |tREE BaMtEk: 085203 UEHUERTIE | £B% £Es%® XEIUHK |64 62 101 122|349
100088210000789 |%3ia Baift=kt 085203 MBS ERTITE <HE |2ES*® LEWITK |58 67 90 124 339
100088210000796 |f&ztk BEEIMEERE 085203 EHUERTIE | £B% | £2BEs%® ZEIUOH |49 51 91 136|327
100088210000793 |Z=57 Bkt 085203 WEUERTRE | =£B% |2E®%E LTt |60 44 89 132|325
100088210000790 |3[34T BaiftEks 085203 WEUETRE |=£B% 2Ex%E LT |51 50 94 122|317
100088210000795 SR{EZA |BatEbE 085203 EMGEERIE £B8% |2Es%E LEIUtK |60 63 81 110 |314
100088210007871 |f&Iis |Bzsit=Fke 085203 SEMGERIE =£B8% |2EsE LEIUHK |66 52 82 114  |314
100088210006625 |#ZxEFE |Baft=kt 085203 EMGERIE  =£B8% |2E&s%E LEIUHK |56 53 87 114|310
100088210000788 |B&KMN, |BEzitskxs 085203 EMGERIE £B8% |2Es%E LTIk |60 61 67 112|300
100088210005611 |BBEf | Baft=Be 085203 {EUERTRE <H% |2ESFE LETITL 54 52 74 118 298
100088210007438 |skfit% |Bmitsis 085203 EMERIE =£B8% |2Es%E LEIUHR |59 40 86 112|297
100088210004369 |3kF/% |Baft¥bt 085203 EERIE  =£B8% |2Es®E LEIUHK |62 49 67 114  |292
100088210004368 |Z={£fE |BzitElE 085203 UESNETRE £B% 2E%%® LETUHK |58 50 76 95 279
100088210003244 |f2i3 Baht=k 085210 EHITIRE £B8# | 2Es%E TEIUTK |63 63 117 137  |380
100088210001012 |Z=fR Baht=ke 085210 EHITIRE £B8# | 2Es%E TEIULK |62 68 108 140  |378
100088210004583 |RHEE |BzitstE 085210 EHTIRE £B8% | 2Es%E ITEITK |63 62 113 136|374
100088210001002 | XIJ%F Btk 085210 =H T8 8% |2Es%E LEItE |61 63 102 143  |369
100088210000990 |#741¥y |BaftFfs 085210 =H e 8% | 2Es%E LTEITE |62 59 116 129  |366
100088210002368 |28 Bat=ke 085210 =H I8 8% |2Es%E LTEItL |64 70 110 122|366
KA B B SR
100088210007353 B& Baifit=8k 085210 =HITRE =H% |2BEs%® LEDITK 72 66 93 134 365 HAAL 105
100088210000995 |FF3Zft |Baft=Bt 085210 = T2 £H% £E&%%E XTItk |60 74 95 133|362
100088210001005 |{53#¢B8 |BEzi¢F8s 085210 = T2 £H% £E&%%E XTItk |58 62 115 126|361
100088210004607 |SiRxA  |Bait=be 085210 = T2 £H% £E&%%E XTItk |68 58 97 135  |358
100088210005835 SfEHE | Baift=ke 085210 =H T2 2B £E%®E XTIt |61 55 115 126|357
100088210000972 |EZE BEMLER 085210 = I8 2B £ES%%E XTI |57 71 105 122|355
100088210003867 |#f%5= |BEzi¢FkE 085210 =H IR £H% £E&%%E |TEIUTL 69 67 90 129  |355
100088210006678 |EW4E |BEaftEk: 085210 EHI IR £H% £E&%®E |TEIUTL 69 65 102 119 355
100088210007257 |ENE |BzitEks 085210 EHI IR £B% £E&%%E ZTEIULL |59 65 106 124  |354




100088210007354 |XI% BaftFke 085210 BEHITIRE £H% |2E%E EEIutk |72 58 89 133|352
100088210003862 |2& BaftEke 085210 EHITRE 8% | fE%E TEmMItK |54 69 110 116|349
100088210005099 | FI—Z&x Bait=kt 085210 = I8 £0% | 2Es®E | LETUtHk |61 48 111 129  |349
100088210006044 | EFIF BEaitEd: 085210 EHILRE £0% |2Es®E | LETUHK |59 60 103 127  |349
100088210006949 | Bkt 085210 =EHIRE £8% | 2Es%®E | LEDUtk |63 59 98 123|343
100088210001006 |#k#rF |BEatEFk 085210 BHIE B3 | 2ES%E EELUTL 71 51 105 115  |342
100088210007106 |#h$E |BiitEiE 085210 =EH L2 £8% | 2Es®E | LETUHR |61 61 98 121 341
100088210003860 |FHES&LY |Bmitsixs 085210 =HITRE £8% | 2Es®E | LETUHR |61 57 107 115  |340
100088210005469 | FEE | Baift¥bt (085210 EHITRE £8% | 2Es®E | LETUHR |55 42 116 127  |340
100088210005207 |4-#B% |Bmiitsixs 085210 EHITRE £0% |2EsE LEIUHK |67 65 72 133|337
100088210004047 |Z=#2 Bk 1085210 EHITRE £8% | 2EsE | LETUHR |51 49 108 125  |333
100088210008746 |HZ=E |BaitEFke 085210 EHITRE £8% |2E%®E LEIUHK |57 59 100 116|332
100088210000983 | Ef& BaiftEke 085210 EHITRE £B8# | 2Es%E TEIULR |70 74 93 94 331
100088210004274 |$hA% BaiftEke 085210 EHITRE £B8# | 2EsE TEIULK |58 63 113 96 330
100088210004306 &% Btk 085210 EHITIRE £0% £EsE LEmDHK |56 54 111 109  |330
100088210005655 |Z/ges |Baift=ke 085210 EHITIRE £B8# |2Es%E TEITE |61 62 97 108  |328
100088210000997 =3k Btk 085210 EHITIRE £0% £EsE LEMtK |56 55 112 104  |327
100088210008171 |3KfF$E |Bat=Fke 085210 EHTIRE £B8% | 2Es%E ITEITK |63 55 95 113|326
100088210007163 |ERNFE  |BzaieElE 085210 =H T8 £B8% | 2Es%E LTEITE |65 55 86 119  |325
100088210003673 |#tiktn |BEzitEkE 085210 =H e 8% | 2Es%E LTEITE |60 51 97 115  |323
100088210006946 |EEIE |BzitEkE 085210 =H I8 £8% | 2Es%E LTEItE |62 69 107 85 323
100088210002802 |&EXKF |BEzitEkE 085210 = T2 8% |2Es%E LTEITE |57 49 110 104  |320
100088210003346 |FFHPH |BEEMLEFBE 085210 EHITRE £H% £ES%E |TEIUTL |61 50 103 105  |319
100088210003432 |3KIi Balt=ke 085210 = T2 £H% £ES%E XTI 49 56 102 112|319
100088210001009 |#ZBREF |BEzi438s 085210 = T2 £H% £E&%E XTI 54 65 72 126|317
100088210008401 XUEME | Baift=ke |085210 =H T2 £H% £E&%%E XTItk |60 61 95 101 317
100088210002804 |#t¥g BEMLER 085210 = I8 £H% £E&%%E XTI |58 57 74 127 316
100088210000974 |Z=Fg BEMLER 085210 EHIIRE £H% £E%%E |TEIUtL |60 63 98 94 315
100088210001000 £2iftzx |BEMEEP: 085210 EHI IR £H% £ES%%E TEITL |56 61 85 113 315
100088210005380 |Z[3) BaiftEks 085210 EHI IR £H% £E&%%E XTItk |66 49 100 99 314




100088210006677 FBiE |BEEMLFBE 085210 BEHITIRE £H% |2E%%E EELUtL 51 59 106 98 314
100088210008170 |&=&H Bkt 085210 EHITRE £H% 2E%%E LTItk |54 43 101 116|314
100088210000982 F&Eit |Bsit=kt 085210 = I8 £0% | 2Es®E | LETUtHk |61 53 97 102|313
100088210001004 |E&KPH BaMEEBE 085210 EHILRE £0% |2Es®E | LETUHK |59 51 81 121 312
100088210008110 EERBLE |BatEbs 085210 =EHIRE £0% | 2EsE | LETUHK |56 61 94 101 312
100088210007845 |XIE Bkt 085210 =EH L2 £8% |2Es®E | LEDUHk |57 60 96 98 311
100088210003246 |BIJ« |BmitEiE 085210 =EH L2 £8% |2Es*®E | LEDutk |68 57 68 117|310
100088210007631 |3Ka® Bkt 1085210 =HITRE £8% | 2Es*®E | LETutk |58 59 82 110  |309
100088210002807 | X% Bkt 1085210 EHITRE £0% |2E&%E LEIUTK |63 67 56 122|308
100088210006244 ;XT=HS |Baift¥B 085210 EHITRE £0% |2E&%E LEIUK |63 58 99 88 308
100088210000975 |XIT=E |Bzitskxs 085210 EHITRE £8% | 2EsE | LETUtR |55 66 99 87 307
100088210002370 |#)iE Bk 1085210 EHITRE £8% | 2E%E LEIUK |62 40 91 114|307
100088210002951 |FEsss B 1085210 EHITRE £0% £ESsE LEIHK |60 53 83 111 307
100088210003106 | XIJJ& B 1085210 EHITRE £0% | £EsE LEIUHK |57 46 69 133|305
100088210008309 |5k Btk 085210 EHITIRE £0% £EsE LEmHK |60 60 81 104  |305
100088210000988 |E=3nH |BzitElE 085210 EHITIRE £0% £EsE LEMItHK |64 68 79 93 304
100088210002806 |E& Btk 085210 EHITIRE £B8# | 2Es%E TEIUHK |55 52 83 114  |304
100088210002952 |(FFl |BaftEbt 085210 EHTIRE 8% | 2Es%E TEIUTHK |54 56 90 104  |304
100088210003578 |S¥4EE |BaitslE 085210 =H T8 8% | 2Es%E LTEITE |56 62 73 112|303
100088210006467 ;&7 Btk 085210 =H e £8% | 2Es%E LTEIULHE |59 62 87 95 303
100088210005126 |KJkE |Bait=ke 085210 =H I8 £8% | 2Es%E LTEITE |54 56 93 98 301
100088210000968 | T I% Bahit=ke 085210 = T2 8% |2E&s%E LTEITE |62 56 76 106 |300
100088210004809 |Z=fik |Bzi¢EkE 085210 = T2 £H% £E%%E XTItk |60 52 88 100  |300
100088210004307 RPE | BaftFEE 085210 =HI TR £H% |fE%E TEmITK |65 67 84 82 298
100088210005567 \EEXR | BaftFEe 085210 = T2 £H% £E&%%E XTItk |56 46 104 91 297
100088210005617 | /& \BaiftEk: 085210 =H T2 £H% £E&%%E |XEIUTL 54 52 102 89 297
100088210006680 |k3=tF |Baift=Be 085210 = I8 £H% £E&%%E TEIUTL 63 49 84 101 297
100088210000980 |7MEF  |Baft=ke 085210 EHIIRE £H% £E&%%E |TEIUTL |59 74 75 86 294
100088210002950 |8 |Bz¢EkE 085210 EHI IR B £ES%E |TEIUTL 54 47 103 90 294
100088210005233 | |B@itEks 085210 EHI IR £H% £E&%%E XTItk 63 51 87 93 294




100088210006468 |S BaftFke 085210 BEHITIRE £H% £E%%E XTItk |55 59 67 111|292
100088210000998 |85 Kl |Baft=kt 085210 EHIIRE <H% |2ESs*® LEDUTK |57 50 71 112 290
100088210006466 4285 | HalftFk 085210 EHITRE 8% |fESE TEDHK |52 60 73 105  |290
100088210006676 |EiZ BahiftEkt 085210 EHILRE £0% | 2Es®E | LEDUHK |57 45 84 104  |290
100088210008284 B{ER |BztFbE 085210 =EHIRE £8% | 2Es*®E | LEDutk |53 58 68 111 290
100088210002805 |XIJZE Bkt 085210 =EH L2 £0% | 2EsE | LETUHK |61 50 73 104  |288
100088210003245 |Z=/\# | BzitEfR 085210 BHIE £H% |eE%FE TEmItL |55 65 66 102  |288
100088210007846 |5 Bkt 1085210 =HITRE £8% | 2Es®E | LETUHR |61 65 66 96 288
100088210005932 |iF {5 BalftEkt 085210 =H TR 8% |£E&s%E FTEIUtK |60 37 90 100 287
100088210006056 |E&X |BiitsixE 085210 EHITRE £0% | 2E&%E LEIUTK |66 49 76 96 287
100088210007058 |5FH Bk 1085210 EHITRE £0% | 2E&%®E LEIUTK |63 66 66 92 287
100088210003047 |3k Bk 1085210 EHITRE £8% | 2E%E LEIUTK |64 55 73 94 286
100088210007698 |XII#F |Bzpt=Fke 085210 EHITRE £8# | 2EsE TEIUHR |57 50 74 104  |285
100088210000989 |=fNEF |Bzitsks 085210 EHITRE £0% £EsE LEDHK 62 53 79 90 284
100088210003105 |E3¢PH |Bzitsts 085210 EHITIRE £0% £EsE LEDHK |59 58 82 85 284
100088210005568 |[EFg Btk 085210 EHITIRE £0% £EsE LEMItHK |64 45 86 89 284
100088210003577 | X7 Btk 085210 EHITIRE £B8# | 2Es%E TEIUHK |59 45 77 102 |283
100088210000985 |Ei& Btk 1085210 EHTIRE £8# | 2Es%E TEIULHE |52 50 91 87 280
100088210003866 |Z2Fhn |Bzsit=k 085210 =H T8 £B8% | 2Es%E LTEITE |58 43 90 89 280
100088210008112 |sk#a |BzitElE 085210 =H e 8% |2Es%E LTEITE |53 52 97 78 280
100088210008311 |3kl Bat=ke 085210 =H I8 8% |2Es%E LTEITE |57 52 75 96 280
100088210003861 |Z=&%E |BEzitEkE 085210 = T2 8% |2E&s%E LTEItE |53 47 84 95 279
100088210004714 |21, Balt=ke 085210 = T2 £H% £E&%%E XTItk |59 40 86 94 279
100088210006792 |5R{% BEMLEe 085210 = T2 £H% £E&%%E XTItk |53 54 82 90 279
100088210007453 |(RiHE |Bzi¢EkE 085210 = T2 £HF £E&%E TEIUTL 60 65 91 63 279




